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An Execution Algorithm for the Hybrid System Mod-
eling Language HydLa.

Shun Shibuya, Kenshiro Takata, 0000000000
0000000000000, Waseda University.

Hiroshi Hosobe, 0 0 000000, National Institute
of Informatics.

Kazunori Ueda, 0 00000000 O0OOOOCDOOO,
Waseda University.

INIT <=> ht=10 /\ v=0.

FALL <=> [J(t’ = v /\ v’ = -10).
BOUNCE <=> [J(ht- = 0 => v = -(4/5)*v-).
INIT, (FALL << BOUNCE).
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Input: HydLaProgram, 000000000000 MaxT
MS := TopologicalSort(SolveCH (HydLaProgram))
T:=0; S:=10
while T'< MazT do

for M € MS do
(SS,MStmp) :=PP(S, M,MS,T)
while |SS| > 1 do
S:=GetElement(SS)
(8S,MStmp) :=PP(S, M,MS,T)
end while
if |SS| =1 then
S :=GetElement(SS); MS := MSimp
goto 1P
end if
end for
break
IP:
for M € MS do
(SS, Tmp,MStmp) :=IP(S, M,MS,T ,MaxT)
while |SS| > 1 do
S:=GetElement(SS)
(SS, Timp,MSimp) :==IP(S, M,MS, T ,MazT)
end while
if |SS| =1 then
S :=GetElement(SS); MS := MSimp
T:= Timp
goto PP
end if
end for
break
PP:
end while
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Input: 00000 SOO0D00OO00OO0DOO MODOOO
ooooooO0oO0oO0 MSO DoOooooooooo
oo T

Output: 00000000 SSOOOO0OOOCOOOOO
oooooo MS
if T > 0 then

M := EliminateNotAlways(M)
end if
(S8S, _, ,MS) := CalculateClosure(S, M,MS,
CheckConsistencyPP, CheckEntailmentPP)
return (SS,MS)

04 PPOOOOOODO

gooooobooooooooobooooobooooo
gooooooooooooooooooobooooo
oobooooood
obOpgooooooobooocooobooooboo
gooooobooooooooooooobooooo
gbobOoooobooobooboboooobooooo
goooooooooobooooooooooooo



O00000oUo0OoOobD 2r00o0 (201000)00000O 3

Input: 00000 SOO0O0O0O0OOOOOOOCOO MOO
0000000000000 MSOODOOOoOOoOooOoo
000 7bo0000ooooooo0 MazxT

Output: 00000000 SSOIPOOOO EndTOO
ooopoooooooooooog Ms
M := EliminateNotAlways(M)

Mgy := MazModule(MS)
(88, A_, Ay ,MS) := CalculateClosure(S, M,
MS, CheckConsistencylP,CheckEntailmentIP)
if |SS| # 1 then
return (SS,MazT,MS)
end if
St := SolveDifferential Equation(GetElement(SS))
(MinT,SS) := CompareMinTime(
{FindMinTime(St = g)|(g = ¢c) € A_}
U {FindMinTime(St = —g)|(g = ¢) € At}
U {FindMinTime(S: N M_)|M_ € (Mg \ M)}
U {FindMinTime(S: A —~My)| My € M}
U{(MazT—T,true)})
if |SS| > 1 then
return (SS,MazT,MS)
end if
S := SubstituteMinTime(St,MinT)
return ({S},MinT+T,MS)
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CheckConsistency(S)00D00O000O000O CheckEn-
tailment(S, g)

Output: 00000000 SSOOOOOOOOOOOO
000 A 000ooooooooboooo AL000oo
ooopooooooooooo MSs
A_:=0; Ay =10
repeat

S := CheckConsistency(CollectTell(M, S))
if S= 1 then
return (0,0,0,MS)
end if
A_ :=A_ U CollectAsk(M)
Ezpanded := false
for (9= ¢c) € A_ do
(Strue, Sfaise):=CheckEntailment(S, g)
if (Strue # 0) A (Sfaise # 0) then
return ({Strue, Sfa,lse}’ A_, A+7MS)
end if
if Strue # 0 then
M := DeleteGuard(M, (g = c))
if CheckAlways(c) then
M .

{DeleteGuard(M;, (g = c))|M; e MS}
end if
A_:=A_\{g=c}
A+ :=A+U{g:>C}
Fxpanded := true
end if
end for
until ~FEzpanded
return ({S},A_, AL ,MS)
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CheckConsistencyPP(S){
return 3(S5)

CheckConsistencyIP(S){

St := SolveDifferential Equation(S)

return (t=0000000 3(S,) 0000 )
}

CheckEntailmentPP (S, g){
return ((S=¢) 000 S, (S=-g) 000 5)

CheckEntailmentIP (S, g){

St := SolveDifferential Equation(S)

return ((Inf{t| (St = g)A(t>0)} =0)000 S,
(Inf{t| (St =g)AN(t>0)}#0)000 S)
}

0 7 CheckConsistency, CheckEntailment
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3.2 CalculateClosure
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A <=> x=0.
B <=> [1(y=1).
C <=> [1(x’=1 /\ (x>3 => y=2)).
A, (B << Q).
08 ODO0O0O0O0000000000OOoOOoOoD
INIT <=> x=0 /\ y=0
CON <=> [1(y’=0).
CROSS <=> [](x=6 /\ y=2)
INC <=> [I1(x’=1).
INIT, (CON << (CROSS << INC)).
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INIT <=> 9<ht /\ ht<11l /\ v=10.
FALL <=> [I(ht’=v /\ v’=-10).

ROOF <=> [](ht-=15 => v=-(4/5)*v-).
BOUNCE <=> []J(ht-=0 => v=-(4/5)%*v-).
INIT, (FALL << (ROOF, BOUNCE)).

010 ODOoOoOooooooooogd

INIT(q,initq,v,initv)
<=> g=initq /\ v=initv.
CONT(q,v) <=> [I1(q’=v /\ v’=0).
COLLISION(ql,vl,ml1,q2,v2,m2,e)<=>
[1(ql-=q2- =>
vi=-((exm2*v1-)-(e*m2*v2-)
-(m1*vi-)-(m2*xv2-))
/(m1+m2) /\
v2=-((-exml1*vi-)+(e*ml*v2-)
-(m1*v1-)-(m2*v2-))
/ (m1+m2)
).
EPS <=> eps>0.

EPS,INIT(qa,-4,va,5),INIT(gb,1,vb,0),
INIT(qc,1+eps,vc,0).
(CONT(qga,va) ,CONT (gb,vb) ,CONT(qc,vc))
<<(COLLISION(qa,va,1l,gb,vb,1,1) /\
COLLISION(gb,vb,1,q9c,vc,1,1)).
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